|
VN eciure 2',' A Car l!p:zatﬁﬁ

l.l.n.u.g,ﬁ;a = -

A | n ne Wmawﬂw_ﬂ,x_ﬁ_

Satisfy; =
i Tﬁi—z =1 Ful4L] vl

Llcol=clLv]

where € s a cownstant.

EAAm.gluL - )
= gv tation. L= Oy B
OX

ZLLEUIEQ_W) L= 0, -2z
ox of

| . .
! M’iﬂ_u. f.@l{.:iﬂ,vd_-\rkmﬂﬁgnl Lzﬂf:_&,‘;:b;;

W& X" ary"

Defivition=A howo pneouS lincar di-f-_&gcml-_.a_\_cfm‘ i

has 4k v

| Cul=0

Wheee | 15 a dEferentlal ﬂ.izmﬁ'nr. S

E xample,
_Consider +he PRE .
Uge ~K X) U= Uxx

This s a hgmg"mgmg inear diffeceatial qug_ﬁgg with
L""" At*"k(x‘)_&*" a,x;t, ) .




A S P Y e e A AT T L ST Yy ¥ e e — ———e—

MMQ&LLL»&%&,@&&MJ. TE v,y -“WC .
L E0l=D 4hen U+, and cu, are qlse selutions.

Snf.}zuc_uv_u,,_ih_LZc__Lﬂul =0 There fore, Hi __(
Ll Cu+vd=L ToTelln]=04+06=0. I
2. Llenl=cllol=cib=p | l‘
EMM,YJIQ E
_ We Know that - . |
A X = 44X and b (AX)= Hme M I _

_ LEv]l=% _» B

—————— —p—

Jh_:m_ Lr.i-_.u_b_:._a_panﬂuhr Solution +o th:_‘mm#w E—

—I_LA.LALCQJMiLQn L[U]-"F The ?_zg(cgl Solvtion 18 thewn U +DH!W‘)LI'Q
UH 1S a SQlUim,.*’_*hL__LLQ?._(MN_c_}MM-_ _ :
et !
4 rotso = LICT L= $4 0=,

I L_S_QFFJ.;L_U_‘J_GMZ-”_W $i0 o, uﬂ Q _

_LI[G-ul=LlT]-LLu]= =0 @
== 0 ~vu izl\_/cg_tbs_hm.e;__n_ﬂs_ prphkm |

i

=y



